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1. Find x if 𝑚∠𝐶𝐷𝐻 = 2𝑥 + 44, 𝑚∠𝐶𝐷𝐸 = 160° and 𝑚∠𝐻𝐷𝐸 = 5𝑥 + 95 

 
 
2. Support the conclusion with a valid reason 
 
Given: B is between A and C 
Conclusion: AB + BC = AC 
 
 
 
 
 
 
 
 
3. Find the value of x. Given ∆𝐹𝑂𝑋, with 𝑚∠𝐹 = 5𝑥 + 50 , 𝑚∠𝑂 = 8𝑥 and 𝑚∠𝑋 = 10𝑥 + 58 

 
 
 
 
 
 
 
 
 
 
 
 
4. Given the quadrilateral is a trapezoid, find the value of x 
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5. a. Find the value of y and r.    b. Find the value of x and r.  
 

 
 
 
 
 
 
 

 
 
 
 
 
 
 
6.  Pamela purchases a triangular plot of land.  She decides to plant a tree on each corner (vertex) of her land.  She plants an 

apple tree on one corner, a banana tree on another corner, and a coconut tree on the final corner.  The apple tree is 50’ from 
the banana tree.  At the apple tree, the sides of the property form a 10q angle.  At the coconut tree, the sides of the property 
form a 50q angle.  How far is the banana tree from the coconut tree? (Make a drawing, write the equation, solve) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
7. George is not very talented.  He made a stepladder using his wood shop.  When he sets the ladder up, one side is 15’ and 

the other is 19’.  The angle formed by the two sides is 150q.  How far apart are the feet of the two sides. (Make a drawing, 
write the equation, solve) 
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